EXPLODED VIEW
& PARTS LIST

Marauder
BP1763 (.177cal)
& BP2263 (.22cal)

PCP Rifles

Manufacture Start Date: 5/5/09 PHASE 2 Last Update 6/19/13

CROSMAN CORPORATION
7629 ROUTES 5 & 20
BLOOMFIELD, NY 14469
Phone: 1-800-724-7486
Parts Order Fax: 585-657-5405

www.CroSman.com

® This EVP and parts list is intended to be an informational guide in ordering parts. It is not
instructional material and we therefore assume no responsibility for those who use the same
without proper factory training.
® Please order by part number and description.
® Check or money order for the total price must accompany the order.
® For current prices contact Crosman Corporation at 1-800-724-7486

or visit our website www.crosman.com

Page 1 of 5


MILLERB
Typewritten Text
Page 1 of 5


0 N NN R W N

[

PART NUMBER
1763-001
1763-100
1763-101
1763-103
1763-104
1763A105
1763-106
1763-004
2263-004
1763A102

[1>2263A102

1763-058

(1> 1761A023

11

1761A023
1763-017

[T52263-001

13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

1763-012
1763-005
2563-008
2563-061
1763-011
1763A010
1763-014
1763-013
1763-023
1763-033
1761A017
1763-025
1763-022
1763-024
1763-020
1763-009
130-036
1763A060
1763-035
1763-029
1763-038
JTX-080
JTX-080

Page 2 of 5

PARTS LIST BP1763 BP2263
Manufacture Start Date: 5/5/09

PHASE 2
DESCRIPTION
Tube, Pressure 36
Valve Asy. (pg.4) 37
Fill Adaptor Asy. (pg.4) 38
Stock Assembly 39
Gauge Port Asy. (pg.4) 40
Trigger Asy. (pg.5) 41
Plunger Asy. 43
Breech .177cal. (1763) 44
Breech .22cal. (2263) 45
Bolt Asy. .177cal (1763)
Bolt Asy. .22cal (2263)
O-Ring 1.5mm x 4mm (1763)
O-Ring #2-009 (2263)
O-Ring #2-009
Barrel .177cal. 20" (1763) (1>
Barrel .22cal. 20" (2263) 8
Cap, Pressure Tube 9
Shroud, Barrel 10
Barrel Band 12

O-Ring, #2-022

Cap, Fill Nipple

Cap, Shroud

Sleeve, Transfer Cart

Mount, Shroud

Set Screw,8-32 x .25 FLTPT(2)
Gauge, 3000 PSI

Adapter, Gauge

Bushing, Bolt Latch

Screw, 8-32 x .188, SHCS
Screw, 8-32 x .500, SHCS
Spacer, Barrel Shroud

Spring, Hammer

Breech Gasket (2)

Baffle (4)

Screw, 8-32 x .437, BHCS (4)
Screw, 1/4-20 x 1.0 SHCS
Guide, Hammer Spring
O-Ring, 2-113

O-Ring, 2-113

PART NUMBER
1763-027
1763-021
397-036
190B-008
1763A015
1763A036
CH2009-023
88-089
1763-019

DESCRIPTION

Screw, 4-40 x 1.25 SCHS (2)
Set Screw, 8-32 x .375 FLTPT (2)
O-Ring, #2-016, BUNA N
O-Ring

Hammer

Striker

Plug

Set Screw, 6-32x.125 CUP HEX HD
Screw, 10-32 x .25, SHCS

MAURADER .22cal (BP2263) Unique Parts

2263-004
2263A102
1761A023
2263-001

Breech, .22cal.

Bolt Assembly, .22cal.
O-Ring, #2-009
Barrel, .22cal, 20"

Last Update 6/19/13


MILLERB
Typewritten Text
Page 2 of 5


G jo ¢ abed

ININOJIWOD TFAOW 3341TYD TT° INOINN JO4 1SIT SI¥Vd INOINN 33S {1



MILLERB
Typewritten Text
Page 3 of 5


G Jo ¢ obed

4 811-9d895SV "ONII-O 920-€9/£1 45
L 3ONVO "1d0d 210-€9/41 £
‘ALO NOILdINDOS3A JIGWNN Ldvd | "ON WALl
140d 35NVYD ‘s WALl

! A3IATOWIIAO "'WILS FJATVA O 1-00/1 ¢
! SSVdd 'SZL X Ze-8 ‘MIADS L3S 650-€9/1 4¢
L | INGWLSNray ALDOTIA ‘MIADS 8C0VE/LL El
L FATVYA "ONIIdS ye0-€9/1 dc
L 81 1-9895SV "ONIY-O 920-€9/1 ¢
L dVO JATVA €00veP/LL a¢
L AQO4 FATVA L01-€9/1 V¢
"ALO NOILdI4DsS3d 439NN 14vd "ON WAL

L 33114 dIJFINIS /¥0-00C 1SN ac AT8W3SSY IATVA ‘T WAL

l d31dvav ‘31ddIN 201-19/1 o€

L 81 1-9895SV "“ONI3-O 900-€9/1 ¢

l d31dvay 114 "ONISNOH 810-€9/1 43

‘ALO NOILdIdOS3d JIGWNN 1dvd | 'ON WALl

¥31dvav 1114 ‘'€ Wall



MILLERB
Typewritten Text
Page 4 of 5


L AV3H 13XD0S 'SLT X 8T/ ‘MIJDS eG0veS/LL A9
L ANIT 'NOISYOL "“ONIYdS G90-€9/1 ne
L ONIY-O HO3FFAG Z£1 TvES 290-£6€ 19
L 0ST X¥60" ‘NId 1103 £G0-€9/1 S9
14 SOH4 'S/E" X OF-¥ "MIJOS 960-€9/1 d9
L 1d AO 'TLE X 0F-¥ "MIYDS 135 GG0-€9/L1 09
4 1d AO 881" X Ov-¥ "‘MIJDS 135 yS0-€9/1 d9
L AV3S "ONIddS 2G0-€9/1 N9
L AL34VS "ONIYdS 1G0-€9/1 W9
L ANIT 33ODIAL “ONIAS 050-€9/£1 19
14 980X9C1'XG/€" ‘NId13A "¥IDVIS 6¥0-€9/1 A9
S €CLX9T1'™XST ‘NIy13A ‘§IDVdS 8r0-€9/1 re
L 00§ X GZ1l" 13IMOad 'Nid Ly0-€9/1 H9
14 GZ9 X GZL  "13IMOQA 'NId y0801L o9
L dv3s Gy0-€9/1 19
L AFODIAL AN yy04€9/1 39
L AL3AVS ¥IAT ev0-€9/1 a9
L dIOONL cr0-€9/1 o9
L ONISYD d3OOIYL "¥IA0D L¥0-€9/1 49
L AIDDIAL “ONISVD 0r0-€9/£1 V9
‘ALO NOILdINDOS3A JIIWNN Lavd ‘'ON WAl

AT9NISSY HIODIYL ‘9 WALl

G Jo G abed



MILLERB
Typewritten Text
Page 5 of 5


	p1
	p2
	p3
	p4
	p5



